
Plane Geometry 
Pair of  straight lines

If I, and I are the lengths of
perpendiculars drawn from

the

point (1 , 2) to the pain of lines

given by the equation .

2x2-Jay +2y2 +3x -34 +1= 0
Prove that P

, P2=



Solo Given es is

I

222-5xy + 2y2 + 3x - by + 1 = 0 - 0

La
+ (- 54 + 3)x + (2y2 - 3y +1) = 0

This is Ourd .
inse.

x
==/- 4(2)(zy2- xy +1)

2(2)
a =

5x x9-307-16y2+ 24y-s



u =A+ 1

x = 5y -31xxR
-

x =

5 t(zy-1)



... a = -x 3y-1 andxe/3 - )
4

=) x = Y
and - 22
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-S
x = Gy - 1 and x= 11

2

=> x - 2y + 1 =
0 and 2x - y + 1 = 0

-



es ⑪ and ⑪ are straight lines

given by

P
,
= distance of (-1 ,

2) from ⑪

9
, (2) + 11 - 5

P = distance of C-1 ,2) from ⑭



jau tas+

=
Pin

= E x 5

= E
Hence poned .
-
-


